Econ 446

Spring 2007

MT # 1 Make Up

R. Sickles

Answer all of the following questions.   The questions are weighted equally.  You have 50 minutes.  You may use a calculator and an 8 1/2 x 11 sheet of paper with notes, etc. on both sides.

1.  Labor economists study the determination of labor earnings using a “statistical earnings function.”

A simple example of such a regression, estimated using data for 31,093 men, is

logYi = 7.58 +    0.070   Xi + ei.

                                                                      (0.00160)

Here Y denotes earnings and X is years of education; “log” denotes a natural logarithm.  The value in parentheses is the estimated standard error.

a.  Using your knowledge of logarithmic functional forms, explain the interpretation of the coefficient on education.

b. What does this equation predict would be the earnings of a hypothetical person with no education?

c. Obtain a 90% confidence interval for the rate of return to education.

2. Answer true or false and state why.

a. The power of a test increases as the sample size increases

b. The size of a test increases as the sample size increases

c. The independent variables in a bivariate regression model needs to be constant to estimate the slope coefficient

d. In large samples the usual standardized ratios follow the t-distribution

e. If we rescale the dependent variable in a regression by dividing by 100, the new coefficients and their estimates will be multiplied by 100.

f. 
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 always decreases as we add variables to a regression.

3.  Consider the bivariate regression model 
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for i=1,…,n.  Explain the key assumptions needed in order to establish the desirable properties of best linear unbiasedness of the ordinary least squares estimates of 
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4. In the macroeconomics literature there are two competing theories concerning consumption behavior. According to Keynes, aggregate consumption is determined by aggregate income. Alternatively, the classical economists feel that consumption should be inversely related to interest rates.   The results below are based on observations on U.S. consumption expenditures (in billions of 1982 dollars), disposable personal income (in billions of 1982 dollars) and the real interest rate for the years 1955-86.   Based on the econometric evidence below, what are your conclusions relative to the validity of the two hypotheses?



Keynes' Theory: An economic model that relates consumption to income using a linear relationship is 
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where we will assume the et are independent random variables with 
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Classical Economist's Theory: In this case we specify the linear economic model relating consumption to interest rate as
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with the vt assumed to be 
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 and independent.



The two least squares estimated equations with standard errors in parentheses are
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